Autonics pdf AUTONICS Autonics
@l tonics autonics The invisible hand for more convenient wo

sensors & controllers

SELECTION GUIDE

Ver.5

autonics shunto@®126.com

4006-022-0 °
Kutonlcs



Selection Guide

e Sl S
= RSHE (EER)

[PIRIL L L L J[8] - [8][D][N] - ]

TRl
1) I |ECHNA&
MR/ R V| WhBgs
IV it 2 (IECHIAR)
N NPN NO
N2 NPN NC
bnfed] P PNP NO
P2 PNP NC
o [#JF
o[ =Twm
R FLR D 12—24VDC
A 100—240VAC
& 2R —
+ RHER EEREEEEED
R~
| &z [ BnEEZ @
2453%/38 3 Bk, Tnegn
T | Bnesgk
MR~ ey
3 s 5B
L[ k=
sk Fesk3| A
DI_CM | smm
DLW | BgalsEEn
Wt /%)
A | EpmE
BB AR E
g . D | EEEANE
| R | Eaw
e B R R I
1) T IECHUARHI= S, BERSEM “17 . C | mAABIAX
) EFF, B BB ERERNR ISR R,
3) Short Type {UERFPRI2AFIERIZER =T
w BUSREA (A
[P][s][ J[17]-[5][D][N][ ]-
Dk ]
1) F WA
BNE R
| U | tmwwm
N NPN NO
N2 NPN NC
P PNP NO
W P2 PNP NC
O b
3) s
[T
4) [ N3 NPN NO+NC
P3 PNP NO+NC
MR R D 12—24VDC(AS Type:12—48VDC)
A 100—240VAC
gl - —
- BN [ 8% [ memmnEs m
EEEEERD
265K /38 R BESER, ZER
5 T | ERER
. S |5k
M EEZ
FIl | mEm
S P | mEBREERE
1) SRR = RN IEPSN TR 5. A | mEREMAERFE

2) B RINIEPS12, PSN1T R T,
3) HIF, WH MEE(UEE &R & q.
4)N3, P34 BY{RIEASBO R 5= &

5) B2k F= migPSN1 TR 5.

Avutonics

C
p:
<



Selection Guide
IR FF X
mEIREE &R BN (BIREBE: 12-24VDC)

NSy RMEE B | i
HNE bRy gasii] piE=S (mm) L
¥ b fing 4t FoF | She | (D)
PRDT12-4DO
@D@W PRDT12-4DC 4 450
PRDT12-8DO
P [ pmam= PRDT12-8DC 8 | 400
NEEZE
PRDLT12-4DO
W12 (mmm}%b PRDLT12-4DC 4 450
PRDLT12-8DO
(HW PRDLT12-8DC 8 | 400
PRDWT12-4DO
A3 i u p PROWT12-4DC | * 450
FEAGi PRDWT12-8DO 8 400
PRDWT12-8DC
PRDT18-7DO
(mmw PRDT18-7DC 7 250
PRDT18-14DO
P @m%h PRDT18-14DC 14 | 200
I PRDLT18-7DO . 250
PRDLT18-7DC
PRDLT18-14DO
(Dmm‘“’ PRDLT18-14DC 14 | 200
PRDCMT18-7DO
@@(@(’ PRDCMT18-7DC | ' 250
PRDCMT18-14DO
o @ PRDCMT18-14DC 14 | 200
M18 (g PRDCMLT18-7D0 | - 250
PRDCMLT18-7DC
(@ |PROGMLTIs-1400 12 | 200
PRDCMLT18-14DC
PRDWT18-7DO . 250
Fil4: 3] PRDWT18-7DC
i PRDWT18-14DO
PRDWT18-14DC 14 | 200
5Bl m@m'_ PRDAT18-7DO 7 250
FrifE 8y PRDAT18-7DC
K1k PRDAWT18-7DO - 250
L 3] e PRDAWT18-7DC
PRDT30-15DO
(mmm PRDT30-15DC 15 100
PRDT30-25D0
— @m% PRDT30-25DC 25 | 100
MFEZE
PRDLT30-15D0
@WW% PRDLT30-15DC | 1° 100
PRDLT30-25D0
M@]ﬂ)ﬂ%‘ PRDLT30-25DC 25 | 100
PRDCMT30-15DO
@m PRDCMT30-15DC | 1° 100
PRDCMT30-25D0
. @@@ PRDCMT30-25DC 25 | 100
M30 et
@@(@@@@ PRDCMLT30-15D0| 100
PRDCMLT30-15DC
PRDCMLT30-25D0
m PRDCMLT30-25DC 25 | 100
PRDWT30-15D0 | . 100
Brgk s PRDWT30-15DC
FEAG PRDWT30-25D0
PRDWT30-25DC 25 | 100
Pyl PRDAT30-15D0 | . 100
FrRUERL PRDAT30-15DC
B PRDAWT30-15D0 | 100
2 5 A PRDAWT30-15DC

> IECIERRT S, TSRS JE -1 LAy W)

37 Avutonics



Selection Guide

BEiEFX
mHR2%&RERF (BRBE: 12-24VDC)

AN S e sy | i
biSi7 B KA [IE=} Cmm) Az
# T 51k * ¥ S 7| st | M
PRT08-1.5DO
- _ 1.5 1500
= ros: oo
PRT08-2DC 2 | 1000
M08 @@% PRWT08-1.5D0 | , . 1500
Bk 5] PRWT08-1.5DC :
el PRWT08-2DO
@b PRWT08-2DC 2 | 1000
PRT12-2DO
UDme= 2 1500
PRT12-2DC
PR PRT12-4DO
ipmee— PRT12-4DC 4| soo
PRCMT12-2DO
- e PRCMT12-2DC 2 1500
- T PRCMT12-4DO 4 500
W12 PRCMT12-4DC
PRWT12-2DO
e @ PRWT12-2DC 2 1500
e (D% PRWT12-4DO s | 500
PRWT12-4DC
B I OJJWB' PRAT12-2DO
FrifE PRAT12-2DC 2 1500
[P PRAWT12-2DO 2 1500
o =) PRAWT12-2DC
W PRT18-5D0
5 500
o PRT18-5DC
PRT18-8DO
@)@% PRT18-8DC 8 | 3%
PRCMT18-5D0O
- @m PRCMT18-5DC 5 500
ﬂ'—l
- @@@@@@K’ PRCMT18-8DO 8 | 350
PRCMT18-8DC
M18
PRWT18-5D0 5 500
Begk 5] H PRWT18-5DC
AR PRWT18-8DO 8 | 350
PRWT18-8DC
By I Omm]ﬁ- PRAT18-5D0 5 500
PR PRAT18-5DC
By 3tk PRAWT18-5DO 5 500
il 31 L A PRAWT18-5DC
PRT30-10DO
- @Dmm' PRT30-10DC 10 400
FRUER
PRT30-15D0
PRT30-15DC 15 | 200
PRCMT30-10DO
@@@@ PRCMT30-10DC | '° 400
Eo il
PRCMT30-15D0O
@@@@ PRCMT30-15DC 15 | 200
M30
PRWT30-10DO
e Ommb pRWT30-10DC | '° 400
1
A PRWT30-15D0 15 | 200
PRWT30-15DC
K7 PRAT30-10DO 10 400
bRz PRAT30-10DC
7tk PRAWT30-10D0 | o 400
| g PRAWT30-10DC

> IECHERZEM A, T FORAERL S Ja in-TLATE B

Avutonics

e
Pa
S



Selection Guide

EE3lip S

miTEEEE RGN R (HIREHBEE: 12-24VDC)

HME

LIS

iR

B

T

ShiE

FT

Rl g

(mm)

FeF | 4hiR

VA
(HZ)

PRy

(U b=

PRD12-4DN
PRD12-4DP
PRD12-4DN2
PRD12-4DP2

4

500

S

PRD12-8DN
PRD12-8DP
PRD12-8DN2
PRD12-8DP2

400

PRDL12-4DN
PRDL12-4DP
PRDL12-4DN2
PRDL12-4DP2

500

PRDL12-8DN
PRDL12-8DP
PRDL12-8DN2
PRDL12-8DP2

400

M12

PRDCM12-4DN
PRDCM12-4DP
PRDCM12-4DN2
PRDCM12-4DP2

500

PRDCM12-8DN
PRDCM12-8DP
PRDCM12-8DN2
PRDCM12-8DP2

400

PRDCML12-4DN
PRDCML12-4DP
PRDCML12-4DN2
PRDCML12-4DP2

500

PRDCML12-8DN
PRDCML12-8DP
PRDCML12-8DN2
PRDCML12-8DP2

400

(o |
(St

PRDW12-4DN
PRDW12-4DP
PRDW12-4DN2
PRDW12-4DP2

500

PRDW12-8DN
PRDW12-8DP
PRDW12-8DN2
PRDW12-8DP2

400

PRDWL12-4DN
PRDWL12-4DP
PRDWL12-4DN2
PRDWL12-4DP2

500

PRDWL12-8DN
PRDWL12-8DP
PRDWL12-8DN2
PRDWL12-8DP2

400

Lzl

PRD18-7DN
PRD18-7DP
PRD18-7DN2
PRD18-7DP2

300

PRD18-14DN
PRD18-14DP
PRD18-14DN2
PRD18-14DP2

14

200

PRDL18-7DN
PRDL18-7DP
PRDL18-7DN2
PRDL18-7DP2

300

PRDL18-14DN
PRDL18-14DP
PRDL18-14DN2
PRDL18-14DP2

14

200

M18 | 4

PRDCM18-7DN
PRDCM18-7DP
PRDCM18-7DN2
PRDCM18-7DP2

300

PRDCM18-14DN
PRDCM18-14DP
PRDCM18-14DN2
PRDCM18-14DP2

14

200

PRDCML18-7DN
PRDCML18-7DP
PRDCML18-7DN2
PRDCML18-7DP2

300

PRDCML18-14DN
PRDCML18-14DP
PRDCML18-14DN2
PRDCML18-14DP2

14

200

PRDW18-7DN
PRDW18-7DP
PRDW18-7DN2
PRDW18-7DP2

300

PRDW18-14DN
PRDW18-14DP
PRDW18-14DN2
PRDW18-14DP2

14

200

(ks |
AT

PRDWL18-7DN
PRDWL18-7DP
PRDWL18-7DN2
PRDWL18-7DP2

300

=

PRDWL18-14DN
PRDWL18-14DP
PRDWL18-14DN2
PRDWL18-14DP2

14

200

39

Avutonics




Selection Guide

EE3lip S

mEEEE BRI B (RIFERE: 12-24VDC)

C€

LNIZES

HME

FRifE

[

G

b5

T

e

i) B

(mm)

T

Sh iR

i) |
(HZ)

o

PRD30-15DN
PRD30-15DP
PRD30-15DN2
PRD30-15DP2

15

100

(o>

PRD30-25DN
PRD30-25DP
PRD30-25DN2
PRD30-25DP2

25

100

FrifER

PRDL30-15DN
PRDL30-15DP
PRDL30-15DN2
PRDL30-15DP2

15

100

PRDL30-25DN
PRDL30-25DP
PRDL30-25DN2
PRDL30-25DP2

25

100

PRDCM30-15DN
PRDCM30-15DP
PRDCM30-15DN2
PRDCM30-15DP2

15

100

PRDCM30-25DN
PRDCM30-25DP
PRDCM30-25DN2
PRDCM30-25DP2

25

100

M30 | 47

PRDCML30-15DN
PRDCML30-15DP
PRDCML30-15DN2
PRDCML30-15DP2

15

100

PRDCML30-25DN
PRDCML30-25DP
PRDCML30-25DN2
PRDCML30-25DP2

25

100

PRDW30-15DN
PRDW30-15DP
PRDW30-15DN2
PRDW30-15DP2

15

100

LY

PRDW30-25DN
PRDW30-25DP
PRDW30-25DN2
PRDW30-25DP2

25

100

A

PRDWL30-15DN
PRDWL30-15DP
PRDWL30-15DN2
PRDWL30-15DP2

15

100

PRDWL30-25DN
PRDWL30-25DP
PRDWL30-25DN2
PRDWL30-25DP2

25

100

Avutonics



Selection Guide
B F
m B RS NEH (HIFEEE: 12-24VDC)

n
m

LIS FBE RS | i
S FrdERY KA RSy (mm) P
FF HhiEE FF S 7| ham| (H2)

T
m@m: PR08-1.5DN2 1.5 1500

PR08-1.5DP2

a2
ogm- L il s

- _
FrHEA PRL08-1.5DN

0 mj)jm}): PRL08-1.5DP
PRL08-1.5DN2 1.5 1500

PRL08-1.5DP2

G |
paLgs-40n7 2 |too0
" afm— ERE
PRWO08-1.5DN2 1.5 1500
PRW08-1.5DP2
aGm—, e 2o
: : 2 {1000
PRW08-2DN2
e PRWO08-2DP2

e (B@Hm}b PRWL08-1.2DP
PRWL08-1.5DN2 1.5 1500
PRWL08-1.5DN2
@D@D}Dmi; PRWL03-2DP
PRWL08-2DN2 2 | 1000
PRWL08-2DP2

| Short IEERS PRS12-2DN

| PRS12-2DP

W PRS12-2DN2 2 1500
PRS12-2DP2

Short [SEEENN PRS12-4DN

PRS12-4DP
(D%% PRS12-4DN2 4 | 500
PRS12-4DP2
o L
- -
e W PR12-2DN2 2 1500
PR12-2DP2
PR12-4DN

yoms- ‘| oo
- PRy + | so0
T
B e oz | ° 1900

PRCM12-4DN

<((@((((@ (® PRCM12-4DP
PRCM12-4DN2 4 | 500
PRCM12-4DP2
otz 2o
: PRW12-2DN2 2 1500
Foge | PRW12-2DP2
! PRW12-4DN
e PRW12-4DP
PRW12-4DN2 4 500
PRW12-4DP2

TR
P @)@% PRA12-2DN2 2 1500
PRA12-2DP2
TR
PR18-5DN2 5 500
PR18-5DP2
cote a0
T PR18-8DN2 8 | 350
PRHEEL PR18-8DP2
coLtE sy
PRL18-5DN2 5 500
PRL18-5DP2
" e
PRL18-8DN2 8 | 350
PRL18-8DP2
coctte 3oy
m PRCM18-5DN2 5 500
PR PRCM18-5DP2

R
C@@@(@ PRCM18-8DN2 8 | 350
PRCM18-8DP2

41 Avutonics



IR T X
m B3N AR (BRIREEE: 12-24VDC) C€

NS FrgEss | wis
VS b K i m) | ik
T shiga 57 i Sor] shE | (D)

PRCML18-5DN

PRCML18-5DP
W PRCML18-5DN2 i 500

) PRCML18-5DP2
AR PRCML18-8DN
PRCML18-8DP
m@@ PRCML18-8DN2 8 | 350
PRCML18-8DP2
PRW18-5DN
PRW18-5DP
m@ﬁ% PRW18-5DN2 o 500
PRW18-5DP2
PRW18-8DN
PRW18-8DP
i (D))@mb PRW18-8DN2 8 | 350
M18 | itk | PRW18-8DP2
FeAi Y PRWL18-5DN
PRWL18-5DP
(mmmﬁ PRWL18-5DN2 5 500
PRWL18-5DP2
PRWL18-8DN
PRWL18-8DP
(Dmmm’;ﬁ PRWL18-8DN2 8 | 350
PRWL18-8DP2
PRA18-5DN
" PRA18-5DP
37 9 54 Oﬁm@m’= PRA18-5DN2 & 500
PRA18-5DP2
PR30-10DN
PR30-10DP
Omm% PR30-10DN2 10 400
PR30-10DP2
PR30-15DN
PR30-15DP
@%% PR30-15DN2 15 | 200
— PR30-15DP2

PRL30-10DN
PRL30-10DP
Ommm% PRL30-10DN2 10 400

PRL30-10DP2

PRL30-15DN
PRL30-15DP

(Immjmp PRL30-15DN2 15 | 200
PRL30-15DP2

PRCM30-10DN
PRCM30-10DP

@@@ PRCM30-10DN2 10 400
PRCM30-10DP2

PRCM30-15DN

PRCM30-15DP
m PRCM30-15DN2 15 200

) PRCM30-15DP2
M30 | HAG% PRCML30-10DN

PRCML30-10DP

m PRCML30-10DN2 10 400
PRCML30-10DP2
PRCML30-15DN

PRCML30-15DP
m PRCML30-15DN2 15 200
PRCML30-15DP2
PRW30-10DN
PRW30-10DP
PRW30-10DN2 10 400
PRW30-10DP2
PRW30-15DN
PRW30-15DP
PRW30-15DN2 15 200
PRW30-15DP2
PRWL30-10DN
PRWL30-10DP
PRWL30-10DN2 10 400
PRWL30-10DP2
PRWL30-15DN
PRWL30-15DP
PRWL30-15DN2
PRWL30-15DP2

PRA30-10DN
gy PRA30-10DP
Sl
ik O}m%- PRASO-100F 10 400
PRA30-10DP2

Avtonics 42

Rk 5] i
e

15 | 200




Selection Guide

FHEFF X

w3 2sk B, (BIEBE: 100-240VAC)

C€

SIS

ShI%

bRz

K

T

Shik

T

i

e

JS 54

Rl g

(mm)

| Shig

M )3
(HZ)

bRy

-

PR12-2A0

PR12-2AC

2

PR12-4A0

PR12-4AC

A

(@)

PRCM12-2A0

PRCM12-2AC

M12

PRCM12-4A0

PRCM12-4AC

Bk 5|

=

PRW12-2A0

PRW12-2AC

ey

PRW12-4A0

PRW12-4AC

PRA12-2A0

PRA12-2AC

iRl

PR18-5A0

PR18-5AC

PR18-8A0

PR18-8AC

PRL18-5A0

PRL18-5AC

PRL18-8A0

PRL18-8AC

Heamisy
M18

PRCM18-5A0

PRCM18-5AC

PRCM18-8A0

PRCM18-8AC

PRCML18-5A0

PRCML18-5AC

PRCML18-8A0

PRCML18-8AC

Ao 5 | th
Az

PRW18-5A0

PRW18-5AC

PRW18-8A0

PRW18-8AC

PRWL18-5A0

PRWL18-5AC

PRWL18-8A0

PRWL18-8AC

PRA18-5A0

PRA18-5AC

R

PR30-10A0

PR30-10AC

10

PR30-15A0

PR30-15AC

15

PRL30-10A0

PRL30-10AC

10

PRL30-15A0

PRL30-15AC

15

FeAi Ry
M30

PRCM30-10A0

PRCM30-10AC

10

PRCM30-15A0

PRCM30-15AC

15

PRCML30-10A0

PRCML30-10AC

10

PRCML30-15A0

PRCML30-15AC

15

B 5| i
LS IR

PRW30-10A0

PRW30-10AC

10

PRW30-15A0

PRW30-15AC

15

PRWL30-10A0

PRWL30-10AC

10

PRWL30-15A0

PRWL30-15AC

15

B k2

PRA30-10A0

PRA30-10AC

10

20

43

Avutonics




Selection Guide

eI IRIES

W B2k AR (BRFEBRE: 12-24VDC)

C

m

SMI%

e

FRIERL (R TITARINAL)

Bt/

Pt

Jo

el g

(mm)

LD)NE7ES
(Hz)

17 ‘
AR

ARSI 7Y
ChRifEZRe)

PSNT17-5DO

PSNT17-5DC

TR
[QuEiED)

PSNT17-5DOU

PSNT17-5DCU

500

mEH%3I%R A (BIEBRE: 12-24VDC)

Ce

SME

S

PRI (AT TR

A

g

oz B g
(mm)

M J97 451 2%
(Hz)

12

R
T bR

i /v@’

ChrfEL)

PS12-4DN

PS12-4DP

PS12-4DN2

L
v ‘%

PS12-4DNU

PS12-4DPU

PS12-4DN2U

500

17
Ji¥

iR

iR ﬁ
AT

PSN17-5DN

PSN17-5DP

PSN17-5DN2

PSN17-5DP2

PSN17-5DN-F

700

PSN17-8DN

PSN17-8DP

PSN17-8DN2

PSN17-8DN-F

PSN17-8DP-F

PSN17-8DN2-F

200

e 7Y
[QUEiED)

PSN17-5DNU

PSN17-5DPU

PSN17-5DN2U

PSN17-5DP2U

700

PSN17-8DNU

PSN17-8DPU

PSN17-8DN2U

PSN17-8DNU-F

PSN17-8DPU-F

PSN17-8DN2U-F

200

R
25

PSN25-5DN

PSN25-5DP

PSN25-5DN2

PSN25-5DP2

350

itk
R

PFI25-8DN

PFI25-8DP

PFI125-8DN2

PFI25-8DP2

200

30
T

i

PSN30-10DN

PSN30-10DP

PSN30-10DN2

PSN30-10DP2

10

250

PSN30-15DN

PSN30-15DP

PSN30-15DN2

PSN30-15DP2

15

200

40

FUE

PSN40-20DN

PSN40-20DP

PSN40-20DN2

PSN40-20DP2

20

100

50 |
iy | PR

PS50-30DN

PS50-30DP

PS50-30DN2

PS50-30DP2

30

50

Avutonics

4

4

o




HEETF 3

B R4%R 5 (BIREE: 12-48VDC) C€
AN e B | R
Sk R (TR R Cim) (Hz)
80 KHR BRI AS80-50DN3
oy | FRHEY 50 100
AS80-50DP3
w13z E24% 077 B (R IR FLIE : 100-240VAC) C€
ali " HBIBEE | wsEAR
ok B (AR - iR (mm) (Hz)
) PSN25-5A0
PR 5
25 PSN25-5AC
i PFI25-8A0
SIZ 7] 8
Jii Y2 PFI25-8AC
PSN30-10A0 10 20
30 ) PSN30-10AC
jrm | PRIER PSN30-15A0 s
PSN30-15AC
PSN40-20A0
0 | #e 20
Ve PSN40-20AC
mEARNERIZE TR (BB JE: 12-24VDC)
SN wgEs | w
HME PRy KA e (mm) A
‘ o 51 A I
CR18-8DN
M18 | FrifEr CR18-8DP 8
CR18-8DN2
CR30-15DN 50
M30 | FrifEfl CR30-15DP 15
CR30-15DN2 3«
B 55 BRI L T
W AR A2%E (BIEFEE: 100-240VAC)
A2k wgEs |
S bR KA 2 (mm) S
55 T 5N FoF | shiE | )
CR18-8A0
M18 | FrifERd 8
CR18-8AC
20
CR30-15A0
M30 | Ffe @mmm}- 15
CR30-15AC
OEi3e3 =g
S5y 2K Rk | wy
iz b KA USe) (mm) e
fa hi T i o | st | 2

M18 | e (])j)mmp- PET18-5 5

G ARG IR ER 2R : PRT18—5DJ, PRCMT18—5D[J, PR18—5D[], PRCM18—5D[], PRL18—5D[], PRCML18—5D[].

45 Avutonics



Selection Guide

EE3ligi S

™ 45| HEIR T (LA )
[ ] i
M08 GRS <Hhig>
$15 A 2,000 $15 A B 2000
13
4 13 4
g e g Mgy
@ e e @ . :
¢4
¢4
M8 < 1 IHEETAT M8 1 FEFR AT
B A A= A B
PRT08-1.5D[ 30 PRT08-2D( 4 26
PR08-1.5D(] 30 PR08-2D[ 4 26
PRL08-1.5D[ 40 PRL08-2D[] 4 36
oM12 Bhie>
D 2,000
¢ 21 ¢ 21 C c i -
r1—77 r1_77 A A
A | BRI
94 f 64
e A B c e A B | C D
PRS12-2D[] 245 | 285 | 355 PRS12-4D[ 7 | 175|285 355
PRT12-2D[] 315 | 355 | 425 PRT12-4D(] 7 | 245355 425
PR12-2D(] 315 | 355 | 42.5 PRL12-4D[] 7 | 37.0]480] 55.0
PR12-2A[] 485 | 525 | 59.5 PR12-4D[ 7 | 245|355 425
PRS12-8D[] 7 | 245355 425
PR12-4A[] 7 | 415|525 595
oM12 GRS RS
c 2,000 - D 2,000
621 N B 1 T 621 C c T -
17 b 7 e 17 -« >
A A AT A Al B _
4 M12x1 94 L4
e A B c e A B | C D
PRDT12-4D(] | 31.5 | 33.5 | 51.8 PRDT12-8D[ ] 7 | 245|235 518
PRD12-4D[] 315 | 335 | 51.8 PRD12-8D[] 7 | 245355518
PRDLT12-4D(1| 44.0 | 46.0 | 64.3 PRDLT12-8D[] 7 | 37.0 | 46.0 | 64.3
PRDL12-4D(] | 44.0 | 46.0 | 64.3 PRDL12-8D[] 7 | 37.0]46.0 ] 64.3
oM18 R <HhiE>
c 2,000 - D 2,000
¢ 29 ¢ 29 ¢
ri.‘ BT rij AT
] i S
s
4 N\ M18x1 4
e A B c A Al B[ C D
PRT18-5D] 29.0 | 33.5 | 47.0 PRT18-8D(] 10 | 19.0 | 33.5 [ 47.0
PR18-5D0] 29.0 | 335 | 47.0 PR18-8D[] 10 | 19.0 | 33.5 | 47.0
PR18-5A(] 353 | 39.8 | 53.3 PR18-8A[) 10 | 25.3 | 39.8 | 53.3
PRL18-5D[] 62.0 | 66.5 | 80.0 PRL18-8D[J 10 | 52.0 | 66.5 | 80.0
PRL18-5A[] 62.0 | 66.5 | 80.0 PRL18-8A[] 10 | 52.0 | 66.5 | 80.0




Selection Guide

3Nk S

1 1
w5 HBR T )
oM18 R <Hhig>
c 2,000 D 2,000
29
¢ 5 929 c
24 24 A B
@ K e N
\\‘/ =l | IR 95 W ] | A 95
B . R N 4\ PR
M18X1 M18X1
e A B Cc =Y A B Cc D
PRDT18-7D[] 295 | 81.5 | 532 PRDT18-14D(] | 10 | 19.0 | 31.0 | 52.7
PRD18-7D[] 295 | 31.5 | 53.2 PRD18-14D[ 10 [19.0 [ 31.0] 52.7
PRDLT18-7D(] | 62.0 | 64.0 | 85.7 PRDLT18-14D(] | 10 | 52.0 | 64.0 | 85.7
PRDL18-7D[] 62.0 | 64.0 | 857 PRDL18-14DC1 | 10 | 52.0 | 64.0 | 85.7
oM30 GFP> <Shi>
4o c 2,000 - D 2,000
4 B 942 c
35 [————————— > < P
A 35 A B S
IPErE— HEIETAT ‘4—7 FT_,‘ i)
i . M30x1.5
s
s A B c e A B c D
PRT30-10D(] 38.0 | 43.0 | 58.0 PRT30-15D[] 10 | 28.0 | 43.0 | 58.0
PR30-10D[] 38.0 | 43.0 | 58.0 PR30-15D(] 10 | 28.0 | 43.0 | 58.0
PR30-10A[] 38.0 | 43.0 | 58.0 PR30-15A[] 10 | 28.0 | 43.0 | 58.0
PRL30-10D[ | 60.0 | 65.0 | 80.0 PRL30-15D[] 10 | 50.0 | 65.0 | 80.0
PRL30-10A[] 60.0 | 65.0 | 80.0 PRL30-15A(] 10 | 50.0 | 65.0 | 80.0
° . )
M30 G Shi>
c 2,000

®42

S A B c S A B | C D
PRDT30-15D[! 38.0 40.3 62.0 PRDT30-25D(] 10 | 28.0] 40.3| 62.0
PRD30-15D[] 38.0 40.3 62.0 PRD30-25D(] 10 | 28.0 | 40.3| 62.0
PRDLT30-15D[] | 60.0 62.3 84.0 PRDLT30-25D([] | 10 50.0 | 62.3| 84.0
PRDL30-15D(] 60.0 62.3 84.0 PRDL30-25D[] 10 50.0 | 62.3| 84.0

= BB R T (&8 fz:mm)
®PRA12-2D [ ePRAT12-2D[] ePRAWT12-2D[] ®oPRA12-2A [
421 42.5 2,000 (Eﬁéwﬁﬁ?&?ﬁ%ﬂ) 59.5 2,000

=

R AT

47

Avutonics



Selection Guide

LR

= BB R ~F (AL :m)
oPRA18-5D[] ePRAT18-5D[] ePRAWT18-5D[] ®PRA18-5A ]
29 47 2,000 300 . 53.3 2,000
” 35 CBASIER) [ wa
r—»‘ 29 ‘ FIESRRAT 35.3 HHEFE AT
4
T : — f}‘/__i:(
M18x 1 ‘\\\\Jlé M12x1 / 5
4 A N m1e
®PRA30-10D ] ePRAT30-10D[] ePRAWT30-10D[] ®PRA30-10A [
g 42 0 %8 2,000 300 — % 2000
. Cob it )
‘4—7 iR i) A‘ R
N M12x 1 2o
M30x1.5
SeE
®PRDAT18-7D[] ePRDAWT18-7D[]
$29 ~ 47 R 47 300
04 20 18| 2000 29 18 | 435
oy r T
© H= R e
X 95 b\ 5 M12x1
4 M18 X1 4 M18 1

2,000

1
e

5 \ M30x1.5

= JERB R

oM12 .
P S
621 e 621 c
= AR - s AR
o g :
© © i
A= A B C e
PRCMT12-2DL[J 31.5 35.5 55.8 PRCMT12-4D[]
PRCM12-2D[] 31.5 35.5 55.8 PRCM12-4D[]
PRCM12-2A[] 48.5 52.5 72.8 PRCM12-4A[]
oM12 GeP> Shig>
o C D
0] B . ¢21 < >
- b/\/ .
17 A . B |0 17 A_B c | sifesmn
(R ) ‘
i
1N
4 AM12x1
s A B [ = A B c D
PRDCMT12-4D[] 31.5 24.3 55.8 PRDCMT12-8D[] 7 24.5 24.3 55.8
PRDCM12-4D[] 31.5 24.3 55.8 PRDCM12-8D[] 7 24.5 24.3 55.8
PRDCMLT12-4D([] 44.0 24.3 68.3 PRDCMLT12-8D[] 7 37.0 24.3 68.3
PRDCML12-4D[] 44.0 24.3 68.3 PRDCML12-8D[] 7 37.0 24.3 68.3

Avutonics

r
S



HEIETF 3£

(P4 : mm)
1
=R R T
oM18 - .
<GP <AHhi>
C D
$29 $29
<24, 4675 24 AEIRAT
| ‘ AEHRRAT | ‘
T j' -
4 ill
\M18x1 M18X T\ M12x1
NIk A
= A B c = A B c D
PRCMT18-5D[] 29.0 33.5 53.8 PRCMT18-8D[] 10 19.0 33.5 | 53.8
PRCM18-5D[] 29.0 33.5 53.8 PRCM18-8D[] 10 19.0 33.5 | 53.8
PRCM18-5A[] 35.3 39.5 60.1 PRCM18-8A[] 10 25.3 39.5 | 60.1
PRCML18-5D([] 62.0 66.5 86.8 PRCML18-8D[] 10 52.0 66.5 | 86.8
PRCML18-5A[] 62.0 66.5 86.8 PRCML18-8A[] 10 52.0 66.5 | 86.8
oM18 G SR>
C D
929 A B 29 A B _
24 AR LA
| | BRI | 24 | ‘ ‘ |
-
U
4 M18 X1\ M12x1
A= A B Cc A= A B C D
PRDCMT18-7D[] 29.5 24.8 54.3 PRDCMT18-14D[] 10 19.0 24.8 | 53.8
PRDCM18-7D[] 29.5 24.8 54.3 PRDCM18-14D[] 10 19.0 24.8 | 53.8
PRDCMLT18-7D[] 62.5 24.8 87.3 PRDCMLT18-14D[] | 10 52.0 24.8 | 86.8
PRDCML18-7D[] 62.5 24.8 87.3 PRDCML18-14D(] 10 52.0 24.8 | 86.8
oM30
G <Bhiga>
[ D
B
A e
AR BifFRA

+—I- q 1 N ¢
M12x1 |
M30X1L
+LL§ 5
e A B c EIE=S A B c D
PRCMT30-10D[] 38.0 43.0 63.8 PRCMT30-15D( ] 10 | 28.0 | 43.0 | 63.8
PRCM30-10DL) 38.0 43.0 63.8 PRCM30-15D[] 10 | 28.0 | 43.0 | 63.8
PRCM30-10A[] 38.0 43.0 63.8 PRCM30-15A[] 10 28.0 | 43.0 | 63.8
PRCML30-10D[] 60.0 65.0 85.8 PRCML30-15D[] 10 | 50.0 | 65.0 | 85.8
PRCML30-10A[] 60.0 65.0 85.8 PRCML30-15A(] 10 50.0 | 65.0 | 85.8
oM30 )
G <HbhiEg>
c D
A B A B ¢
ERE A ‘ ‘ IR ARAT

A= A B C
PRDCMT30-15D[] 38.0 25.8 63.8
PRDCM30-15D[] 38.0 25.8 63.8
PRDCMLT30-15D] | 60.0 25.8 85.8
PRDCML30-15D(] 60.0 25.8 85.8

A= A B [ D
PRDCMT30-25D(] 10 28.0 25.8 | 63.8
PRDCM30-25D[] 10 28.0 25.8 | 63.8
PRDCMLT30-25D( ] 10 50.0 25.8 | 85.8
PRDCML30-25D(] 10 50.0 25.8 | 85.8

49

Avutonics



Selection Guide

EESURIES

(A : mm)
w 45| HIEER R~} i
oMos GEP> Shi>
¢15 A 300 ¢15
13 13

@

s A B A B
PRWT08-1.5D[ 30 PRWT08-2D[] 4 30
PRW08-1.5D[] 30 PRW08-2D[ ] 4 30
PRWL08-1.5D[] 40 PRWL08-2D[] 4 30

oM12 GEE> <Bhig>

c 300 ‘ _ D 300

¢21 B ¢ 21 <
A B I
17 ﬁ SR TAT 17 »T—T SRR
N
AN S
(7N @\
&) (D) 1
S N 4
] A B c BE A B c D
PRWT12-2D0] 315 | 355 | 425 PRWT12-4DC] 7 [24.5]355] 42.5
PRW12-2D[ 315 | 3555 | 425 PRW12-4D[ 7 [24.5] 355 42.5
PRW12-2A0] 485 | 525 | 595 PRW12-4A[] 7 | 415|525 59.5
oM12 G <S>
C 300 _ D 300
g 21 « B 521 c
17 A AR 7 Al B, AR
iy e N
PR RN
@ © it [l
&) &
N~ N~ ¢4
! 4 M12%1 M12x1 /
e A B C S A B c D
PRDWT12-4D[] 31.5 | 335 | 51.8 PRDWT12-7D[] 7 | 245]33.5]51.8
PRDW12-4D[] 315 | 335 | 51.8 PRDW12-7D[] 7 | 245]33.5]51.8
PRDWL12-4D[] 44.0 | 46.0 | 64.3 PRDWL12-7D[] 7 | 37.0]46.0] 64.3
_cC _ 300 ‘ 429 - CD e 300 N
24 ESRRAT
AEHRAT \ A LB
"
- A
i
5 M12x 1
4 M18x1 4 M18 %1
e A B c e A B c D
PRWT18-5D( 29.0 | 33.5 | 47.0 PRWT18-8D[] 10 | 19.0 | 33.5 | 47.0
PRW18-5D[ | 29.0 | 335 | 47.0 PRW18-8D[] 10 [ 19.0 | 33.5 | 47.0
PRW18-5A(] 35.3 | 39.8 | 535 PRW18-8A[] 10 | 25.3 | 39.8 | 53.5
PRWL18-5D] 62.0 | 66.5 | 80.0 PRWL18-8D[] 10 | 52.0 | 66.5 | 80.0
PRWL18-5A[] 62.0 | 66.5 | 80.0 PRWL18-8A[] 10 | 52.0 | 66.5 | 80.0
eM18 GEF> <HhiE>

c 300 ‘ D 300 N

: By 1

A ‘ A B

b )]
IR N 0 T e NPy
s A\ e M12X1 )/ 1 N\ ShfEsora M12x1
M18X1 M18X1
BE A B [§ BE A B c D
PRDWT18-7D[] 385 | 40.5 | 62.2 PRDWT18-14D[] 10 | 29.0 | 41.0] 62.7
PRDW18-7D[] 38.5 | 40.5 | 62.2 PRDW18-14D[] 10 | 29.0 | 41.0] 62.7
PRDWLT18-7D[ 62.0 | 64.0 | 85.7 PRDWLT18-14D[] 10 | 52.0 | 64.0 | 85.7
PRDWL18-7D[] 62.0 | 64.0 | 85.7 PRDWL18-14D[] 10 | 52.0 | 64.0 | 85.7

Avutonics



Selection Guide

LT K
= 5 3] R R R

oM30

5 \ M30x1.5

<Shia>

(¥4 : mm)

ST

i
i
Wi

S A B [ S A B [ D
PRWT30-10D[] 38.0 43.0 58.0 PRWT30-15D[] 10 | 28.0 | 43.0 | 58.0
PRW30-10D[] 38.0 43.0 58.0 PRW30-15D[] 10 | 28.0 | 43.0 | 58.0
PRW30-10A[] 38.0 43.0 58.0 PRW30-15AC] 10 | 28.0 | 43.0 | 58.0
PRWL30-10D[] 60.0 65.0 80.0 PRWL30-15D[] 10 | 50.0 | 65.0 | 80.0
PRWL30-10A] 60.0 65.0 80.0 PRWL30-15A[] 10 | 50.0 | 65.0 | 80.0

<Hhig>
D o 300 _
« S »e

e A B c 2 A B c D
PRDWT30-10D[] 38.0 40.3 62.0 PRWT30-15D[] 10 28.0 | 40.3 | 62.0
PRDW30-10D[ 38.0 | 40.3 62.0 PRW30-15D[] 10 | 28.0 | 40.3 | 62.0
PRDWLT30-10D(] | 60.0 | 62.3 84.0 PRWLT30-15D( | 10 | 50.0 | 62.3 | 84.0
PRDWL30-10D[] 60.0 62.3 84.0 PRWL30-15D[] 10 50.0 | 62.3 | 84.0

/,
m AR o)
oPS12-4D[] ®PSN25-5D[] ®PSN25-5A[]
39 St
16.5 - %2
12.5 3.5 v
455 o5 2-M4x0.7 TAP : <
o y
@
SR N === N 1 py ==L
e 3 o
‘ 2,000 g
29 -
35.5
15 15 “ >
214 2-94.2 -
T oA
BRI NEEE @ -
| A 4 “N7 2 9{ I 4
Y 3
LED L_J”'g LED

®PSN17-5(8)D[] ®PSNT17-5D[]

4R
32.2
308 p32  2-M3x05TAP 475 o
|
\ [ Nr
: 3 Jrf=
Y
LED
18

o4

= I{ o % o
D:Tq S il

®PSN30-10(15)D[]

®PSN30-10(15)A[]

53 o A
- MO
20 L 3
15 | 35 | =@
2—M4X0.7 TAP | - <~
5 —_— z
A
h 4
o 77\_‘ A
®|lo|w o| © | ©
: o[ H | —
AN | o N
v v QY
2,000 b —
17.8_
485
33 2-94.5
e 13.5
@ b
w
\ o+
LED

51

Avutonics



Selection Guide

LT X

m AR~ (S )
oPS50-30D] ePS40-20D[] ®PSN40-20A[]
650 2000 N o . S .
o5 28.5
ST /7 s 2-M5X0.8TAP | 6 ©
0 ™. <—ﬂ |
Ty & I P == ; \ 5 § 1
- A
. . n/__ < HETF
Qo =t Q v
v vﬁr 3 - )
2000 16.5
5
/ o, 15.5
> 35 2- 55 |
( k_, §I: [N
2 — %
4-p4.2 ‘}g
YRR AT (SR(ALED) ~ LED
OoPFI25-8D[] ®PFI25-8A[] ®AS80-50D(]
40
43.8 2,000
> - 80 15 30
11 AMERRT R 2,000 20 |
LED (Hf5LED) .-
© \LA
s P e el
- fg& Y
9 77@@ - 4%7% Cable:2m
_ — \ﬁ 8| 8 N
$4.2 4-955 \ 45
e ' S
= HLE AT (LREALED)
e
o3
"R AR R~ (442 :mm)
eCR18-8D[] eCR18-8A[] ®CR30-15D[] ®CR30-15A]
$24 71.5 042 71 N
20 53 185 10 55 LN
s ‘ 85 _;’HF T 65
5 mEE Ll e
7 |, 2,000 - 2,000
8] 5
M18 1 M30x1.5

Avutonics

c

N




Selection Guide

tESliwi S
ks /B

* it ke Rt (B8
a2 | Hsdal | Himeds | EssdkA | Es2dkX | Hms&RK 7K 5% PR
PT4-3DN PT6-3DN PT8-3DN
1] = - - = = = ——
pit} = PT4-2D PT4-3DP PT6-2D PT6-3DP PT8-2D PT8-3DP P96-M12-1
eyt .2
S R ¥ =3
= = /
[W50 X H27.5XL73mm] [W50 X H27.5x1L98mm] [W50xH27.5xL123mm]
wOE 4 6 8 oPT4-I0I0J
I 12-24VDC EHAS  ePT6-[II0]
Bi 3 % % 1P66_(IEC BiHS) XIP6T: 76T Bk s it bl F epTE- LI
oA 3 )k M 4k
= 5MEZ R ~TE ™ R R R EE K
O gk O [tk FeiE /L (FEFP)
A 5000 oPT1-D oPT1-A Tk
e M12 M12
‘4—756'5 140
Y ——— - 4 100 10 Bl K K
{@@% ! ! 7
- < CHL) G
O MR e L (G5
®PT2-D oPT2-A —
M16x1
M12 M12
—@ B 7K ek
D G i
O MR IFFLRF OPCB R+t 5
773 61603
=] 0
e N 0, ““540
- 7
IR I 0
PT6-00 98 @@ @®
PT8-00 123 | B47: mm Min. 24
LM,I FLA7: mm
A3 153
EREBY
O£k O #eAi =
it} 5 g | BAAEN gt 5| g | BB
N £l
s R N 2 2 H1 s R A . R K ek}
i | g | [ RE | g o | o | S |
(L) o, (L) i
CID2-2(P) |[CIA2-2(P) 2 M C1D4-2(P) | C1A4-2(P) 2
CID2-2-1 3 .
2 L—, C1D4-5(P) |C1A4-5(P)| 5
CID3-2(P) — 3
[BllNfm————==|CIDH4-3(P) | — 4 3 Cc2D4-2 | C2A4-2 2
L CID2-5(P) |CIA2-5(P) 2 L c2D4-5 C2A4-5 5
CID2-5-1 PVC 65
CID3-5 — 3 5 C3D4-2  |C3A4-2 2
CIDH4-5(P) — 4 L C3D4-5 C3A4-5 5
PVC 65
CLD2-2(P) [CLA2-2(P) 2 C4D4-2 C4A4-2 2
CLD2-2-1 2 . Py
cLp3-2(p) | — 3 Cans-s °
CLDH4-3(P) - 4 3 » (P) 24
B KBRS AR IE 7 b
CLD2-5(P) |CLA2-5(P)| 2 R
L CLD2-5-1 3
CLD3-5 — 3 5
CLDH4-5(P) _— 4

53

Avutonics






